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MAT.HS.TE.1.0AREI.I.088

Sample Item ID: | MAT.HS.TE.1.0AREI.1.088
Grade: | HS
Claim(s): | Claim 1: Concepts and Procedures
Students can explain and apply mathematical concepts and
carry out mathematical procedures with precision and
fluency.
Assessment Target(s): | 1 I: Solve equations and inequalities in one variable.
Content Domain: | Algebra
Standard(s): | A-REIL.3
Mathematical Practice(s): | 4,6, 7
DOK: | 1
Item Type: | TE
Score Points: | 1
Difficulty: | M
Key: | 1-F, 2-B, 3-F
Stimulus/Source:
Target-specific attributes
(e.g., accessibility issues):
Notes: | TEI Template: Connections
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Match each inequality in items 1 - 3 with the number line in
items A - F that represent the solution to the inequality.

To connect an inequality to its number line, first click the
inequality. Then click the number line it goes with. A line will
automatically be drawn between them.
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Key and Distractor Analysis:

1. Key F; Students that match this inequality correctly have demonstrated an
understanding of how the inequality symbol is affected when dividing by a negative
number.

2. Key B; Students that match this inequality correctly have demonstrated an
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understanding of how to apply the distributive property when solving multi-step problems.

3. Key F; Students that match this inequality correctly have demonstrated an
understanding of how to solve inequalities with variable terms on both sides.

TE Information

Item Code: MAT.HS.TE.1.0AREI.I.088

TEI Template: Connections

Prompt: Match the inequalities in items 1 — 3 with their number line solutions in A - F.

Interaction Space Parameters:
A. Three equations in first region:

Referred to as:
1 (-4x < -12),
2 (2(x+ 2)<38),
3(6-2x<2-x)

B. Six images in second region:
Referred to as:
——r————————————+—+—
A( 6-5-4-3-2-1 01 2 3 4 5 6 )
ettt ————————
B( 6-5-4-3-2-1 01 2 3 4 5 6 )
ettt ——————
c( 6-5-4-3-2-1 01 2 3 4 5 6 )
—
D( 6-5-4-3-2-1 01 2 3 4 5 6 )
i
E( ©6-5-4-3-2-1 01 2 3 4 5 6 )
S e S — o
F( 6-5-4-3-2-1 01 2 3 4 5 6 )
C. True
D. True

Scoring Data:
{1-F, 2-B, 3-F} {0 errors=1}

Scoring Rule Explanation:
Based on the scoring rule and the scoring data for this particular item, students that

properly connect each inequality to their correct number lines will get a score of 1. All other
connections will receive a score of 0.
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